
SAP ABAP table T868 {Elimination of IC profit and loss}

T868

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

PERID [NUMC (3)]

RCOMP [CHAR (6)]

RASSC [CHAR (6)]

ITEM [CHAR (10)]

PRODG [CHAR (5)]

T000

MANDT [CLNT (3)] T868-MANDT = T000-MANDT 0..N

0..N

T854

MANDT [CLNT (3)]

ITEM [CHAR (10)] T868-ITEM = T854-ITEM 0..N

0..N

T866Z

MANDT [CLNT (3)]

PRODG [CHAR (5)]

 T868-PRODG = T866Z-PRODG 
0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 T868-RASSC = T880-RCOMP 

0..N

0..N

 T868-RCOMP = T880-RCOMP 

0..N

0..N

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 T868-RLDNR = T881-RLDNR 

0..N

0..N


